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26.

27.

28.

29.

SECTION - II
MATHEMATICS

The ratio of supplementary angle and complementary angle of a given angle is
8:3. Then what will be the ratio of given angle with its supplementary angle?
(1) 4:1 2) 13
3) 14 4) 1:2

What is the cost of fencing a circular garden of radius 28 m with five rounds
of wire, if the wire costs Rs. 50 per m?

(1) Rs. 45,000 (2) Rs. 46,000

(3) Rs. 44,000 (4) Rs. 50,000

21\3
<_32;C ) = ? (Choose two correct options)

88 —2x°
_g 6 o 8X6 -3
() 5o 4 57

The average of 10 numbers is 20. Out of which the average of first 6 numbers

is 15. The average of last 3 numbers is 16 then what will be the seventh

number?
(1) 72 2) 62
(3) 52 (4) 60
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30. What is the sum of additive inverse of (5a — 3b) and additive inverse of

(—6a + 2b)
(1) a+b 2) a-b
(3) —a+b 4) —a—b

31.  Which of the following statement is wrong?
(A) If a number is divisible by 2 and 5 then it is also divisible by 10.
(B) The numbers divisible by 6 are also divisible by 2 and 3.
(C) The numbers divisible by 7 are odd.
(D) 1, 2, 3, 6 are common factors of all the numbers divisible by 6.

(1 A 2) B
3) C 4 D

32.  Which of the following statement is not true? (Choose two correct options)
(A) The opposite angles of a parallelogram are congruent.
(B) The adjacent sides of a parallelogram are congruent.
(C) The diagonals of a parallelogram are congruent.

(D) The diagonals of a parallelogram bisect each other.

(1) statement A (2) statement B
(3) statement C (4) statement D

33. The length of a cuboidal tank is one and half time its breadth and height is
twice the length. If volume of the tank is 4500 cubic metre then what is the
height of tank? (Choose two correct options)

(1) 10 m. (2) 3000 cm
(3) 30 m. (4) 1000 cm

SPACE FOR ROUGH WORK
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(1) 10 &o. (2) 3000 20.8o.

(3) 30 &o. (4) 1000 20.8o.
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34. If the diameter of a wheel of a tractor is 1.4 m. then how much distance is
covered by the wheel in 400 complete rotation.
(1) 1.66 km (2) 1.56 km
(3) 1.76 km (4) 1.86 km

35. In the adjoining fig. line / || line m || line » and line x and line y are their
transversals. If AB = 18 ¢cm, BC = 30 cm, QR = 21 c¢cm then PR = ?

B

m
N
[V

(1) 84 cm (2) 147 cm

(3) 12.6 cm (4) 33.6 cm

N
/ \Q

36. If a number is divided by 18 then the remainder is 1, if it is divided by 24
then the remainder is 7 and if it is divided by 36 then the remainder is 19.
What is the smallest such type of number?
(1) 91 2) 71
3) 79 4) 55

37.  Which polynomial should be substracted from the polynomial 7x2 — 2x + 4 to
get the polynomial 10x2 + 5?

(1) 3x%2 + 2x + 1 (2) -3x% - 2x — 1
(3) 3x2 - 2x + 1 (4) 3x% + 2x — 1

SPACE FOR ROUGH WORK
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37.

a5 eegd wiso ddng, argo 1.4 Qo. oo, es Higo 400 e BoAFS @8 a0

BPER0088 ?
(1) 1.66 8.%0. (2) 1.56 8.%0.
(3) 1.76 &%o. (4) 1.86 8%o.

25, es5®S® 3go [ || S m || Bgo n B8 3 x 3 y IG5 Tpeo @and
AB = 18 20.£0. BC = 30 0.0, QR = 21 20.8. e0055° PR = dos ?

N
B/ \Q

S e
[

(1) 8.4 20.8o. (2) 14.7 20.5.
(3) 12.6 20.80. (4) 33.6 20.80.

a5 wopgo 183 grAcdsd? 1 Fho $E3,%0, 248 grAodsS? 7 FDho SH9y0, ©d

Do 36 A0 B0 19 Qormensy werod 8D B, oy DO?
(1) 91 2) 71
3) 79 (4) 55

Tx2 — 2x + 4 25050 08 O aTvnoR SDBVHS® 10x? + 5 amone SH?
(1) 3x%2 + 2x + 1 (2) -3x% —2x — 1
(3) 3x% —2x + 1 (4) 3x% +2x — 1
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/0.000256 -
(1) 10° 2) 103
(3) 1072 4) 1073

39. Pradnya has exactly same number of Rs. 2 coins and Rs. 5 coins. She has a
total amount of Rs. 196 then how many coins of Rs. 5 she has?
(1) 28 (2) 56
3) 35 4 14

40. Two angles of measure 40° and 140° with different vertex are drawn then which
of the following statement is true?
(1) The given angles are supplementary angles.
(2) The given angles are linear pair of angles.
(3) The given angles are vertically opposite angles.
(4) The given angles are adjacent angles.

41.  The co-ordinate of point P on a number line is _7—3 The distance between
point P and point Q is 2 units then what will be the co-ordinate of point Q?
(Choose two correct options)

1 5L @ L
3 @ 3
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0711-Telugu Set-A 14 of 32 Contd...



38.

39.

40.

41.

J1.96 — /2.25 +/2.89

= 2

/0000256 o®
(1) 102 2) 103
(3) 1072 4) 1073

g 5g 2 fjo DeBsnen NI ress, 5 Bllo TPBS0LD ©0B HO). e8Rd 3G DGO
196 wllo o). ©ond e S§ o 5 wlo PHBS0e Doy o8 ?

(1) 28 (2) 56
(3) 35 4) 14

a8 By Do &g o 40° sovon 140° Sdpsven AaLRSD. ©@a0ssd oo
B 08 HBE0 ?

(1) es S%ax5000 H0x°0S 06000 €.

(2) e S¥psven SDamess Slmsinen earnHId.
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42.

43.

44.

45.

46.

The radius of a circle with centre 'O' is 10 cm. The length of a chord is
16 cm. Find the distance of the chord from the centre of the circle.

(1) 6 cm (2) 5 cm

3) 8 cm (4) 26 cm

A hall has length 30 meter and breadth 9.5 m. For flooring this hall, the square

tiles are to be used of half meter side then how many tiles should be required?
(1) 1240 (2) 1140
(3) 1340 (4) 1150

Ajay scored 25% marks less than Balbir. Then Balbir scored how much
percentage of marks more than Ajay?

1
(1) 10 2 g

3) 25 @ 33%

The sides forming right angle of a right angled triangle are 8 cm and 15 cm
then what is radius of circumcircle of that triangle?
(1) 8.5 cm (2) 9.5 cm
(3) 13 cm (4) 17 cm

If the side of an equilateral triangle is 18 cm then what is its area?
(1) 81 sq.cm. (2) 8043 sq.cm.
3) 82,/3 sg.cm. (4) 8143 sq.cm.

SPACE FOR ROUGH WORK
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42.

43.

44.

45.

46.

O Bossore GEan s, agego 10 20.80. fom. e 5@os® 16 20.80. HuE) o &
Bo[B550 HI0& 0B BSPBOS° GOEIDO.

(1) 6 20.%. (2) 5 20.%.

(3) 8 20.20. (4) 26 20.%0.

a5 Dgergaro ey 30 fowry Svomo geo, 9.5 Doy e, e DgerjErasome
@gﬁbeoda g02350 11O SEB|ROSE) g)éoom QSO0 D), E{)ESOQD depsd ?

(1) 1240 (2) 1140

(3) 1340 (4) 1150

2058 D5 508 25% ST BESP  SBF. €000 2SHE8 2305 508 Joss

FOBO STB0 IYTBOTP éz?)am?
1) 10 @ 11§
3) 25 @ 33%

5 ©02E%s | HeEHasos? e>oa\)i=§5€'c>%2)‘=1 50D ghapen 8 0.80. a0 15 20.8o. o).
005 €3 (HEHRBD A30T, VOB D_RRZO D0&?

(1) 8.5 20.8o. (2) 9.5 20.8o.
(3) 13 20.8. 4) 17 20.8.

2.8 D0erdy |§gHeso a30s, gheso 18 20.80. e, 005 €3 (HeEHaso G308, FT0 V0B ?

(1) 81 .20.5. 2)  80y3 s.20.80.
(3) 823 s.20.80. (4) 813 s.20.80.
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47.

48.

49.

50.

S1.

The rate of tickets of a bus are increased by 20%. After six months, the rate
of tickets again increased by 10% then what is the percentage increase in the
original rate of tickets.

(1) 30% 2) 32%

3) 25% 4) 35%

A merchant purchased 25 dozen oranges at the rate of Rs. 25 per dozen. He
sold all oranges at the rate of Rs. 32 per dozen. Then how much percentage
of profit did he get?

(1) 25 (2) 32

(3) 28 4) 7

A rope of length 216 m. is cut at five places at same distance then what is
the length of each piece in cm?

(1) 360 cm (2) 3600 cm
(3) 36 cm (4) 36000 cm

Which of the following term should be added so that the expression 49x’ +%

will be a perfect square? (Choose two correct options)

112x 112x
m 3 @
(3) 36y @
6.28x3.14 . (3.14) _

04 T 12.56
M 3 2) 0.6
3) 1.3 @ 5

SPACE FOR ROUGH WORK
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47.

48.

49.

50.

S1.

200y 8565 Bs, oS0 20% R, et Fve B Sove 856 oS 10% ert.
00D SO $OSY JoFB BFBO ORI ?

(1) 30% 2) 32%
(3) 25% 4) 35%

&8 o0 25 oo B @i o 25 Gmy Jomeen §RF0. €8 30go Jogeesd 32
o 5 GBI §8 B%D,0 AR, WAV 0B FBO g0 JH0?

(1) 25 (2) 32 3) 28 @ 7

216 005 o0 PSR ErOSSY 5 S 5800, @ans e.S%5, oD K08,
DY) DY, 20.80. 0O ?

(1) 360 20.80. (2) 3600 20.8v.
(3) 36 20.85. (4) 36000 20.5.
64

49x2+7 S 008 Y Sgo seaweds, 8 Eod BN D DESFVH  BFOODIS0?

(Bocsd FOGIR HTRODHSVOR YOI

112x “112x
() @ U=
(3) 36w 4 %
6.28x3.14 . (3.14Y7 _

042 1256  °°%7

3
M 5 @) 0.6

8

3) 1.3 @ 5

SPACE FOR ROUGH WORK
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52.  The number of girls of 8t standard A division in a school at Beed is 5 more
than half the number of boys. If total number of students in that division is

65 then how many girls are there in that division?

(1) 20 2) 30
3) 25 (4) 40

53. Which of the following statement is correct?

(A) The number +% is to the right side of the number %on the number
line.

(B) The number % is to the left of zero.

(C) The numbers —% and % are to the left of zero on the number line.
(D) The number —% is to right of the number % on the number line.
(1) statement A (2) statement B
(3) statement C (4) statement D

54, 15 x715-7x75+35x35
75— 3.5

(1 3 (2) 4

3) 5 4) 2

SPACE FOR ROUGH WORK
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52. JHESte as spsmeabosy 85 @ond A ?\)%(5955 BST00O DOy €9LI2000 K)ngéess

SMRB0E 5 QBSOS €8 ?0%565 S80E0  DIABRO DO 65 @050 ©SI000

SIeEM} D0& ?
(1) 20
(3) 25

53.  2oo B soghse 9O?

() Dogedwp +% 003 %
(D) Sogedep % A
(D)  DoarBa3 —% 500010 %
(&) SogrBa3 —% 003 % 0
(1 =

3) »

54. 75 x75 -7 x75+ 35 x35
7.5 — 3.5

(1 3
3) 5

2)
4)

2)
4

= Dos?

(2)
(4)

30
40

POPED. WOVT IS0 B S0

0% DEJY) SW0.

A

&

SPACE FOR ROUGH WORK
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55. The difference between sum of three consecutive prime numbers before 50 and
after 50 is completely divisible by which of the following?
(A) 2 B) 3 (C) 4 (D) 7
(1) only by A and B
(2) only by C and D
(3) only by A and D
(4) By A, Band D

56. What is the degree of product of polynomials x> — 2x2 — 1 and x — x2 ?
() 4 2) 5
3) 3 4 6

57 (O x (Jal +x

=9

()t x (V)i +x
(1) Vx 2) 1
(3) x @) x5

58. A vehicle covers a distance of 42 km in one hour. Then how much distance
will it cover at the same speed in 20 minutes?
(1) 21 km (2) 840 m.
(3) 14 km (4) 20 km

59.  Which of the following are the factors of polynomial (2x — 5)° — 64 ?
(1) 2(2x — 9) (2x2 — 6x + 21) (2) (2x — 5) (4x% — 12x + 21)
(3) (2x — 9) (4x? — 12x + 21) 4) (2x + 9) (4% + 12x + 21)

SPACE FOR ROUGH WORK
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SS. 50 mom SWOONO SR (DGR POP® RGO DOOMD BT SDy ST (DD
Do Bgo BE, B0 Z08 TS BB RZ,HOM ERA0DVEIND?
() 2 ®) 3 () 4 @ 7

(1) ZEs00 o oo &
(2) Zseo D sHoamo &
(3) 3Zse0 o oo &
4) 2, d oo &

2

56. X3 - 2x? — 1 aveomo X — X7 2EUHme ©g0 EE, HPE0 JoS?

(1) 4 2) 5

3) 3 4) 6
57. 2 1

(x) x (xpeix

(V) x (V) +x '

(1) Vx 2) 1

3) x @) x%

38. a5 oo s moes 42 2.8n. S0 AT, oS @3 S50 es aogrso 20

DSOS 0B (SO DB ?

(1) 21 28 (2) 840 %».
(3) 14 g8 (4) 20 2.8

59.  (2x — 5)} — 64 2vvH0 MmeEPESsaHIVOS 8od ES D7
(1) 22x — 9) 2x% — 6x + 21) (2) (2x — 5) (4x% — 12x + 21)
(3) (2x — 9) (4x? — 12x + 21) (4) (2x + 9) (4x% + 12x + 21)

SPACE FOR ROUGH WORK
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60. Santoshrao deposited Rs. 2,10,000 in bank for 5 years at simple interest. After
the end of period, he received Rs. 3,36,000 from the bank. Then what was
the rate of interest?

(1) 11% 2) 10%
3) 12% 4) 14%

61. The ages of 60 children in a class are given in the frequency distribution table

below. From this, find their mean age.

Age (in years) 12 13 14 15

No. of children 13 12 21 14

(1) 15 years (2) 13.6 years
(3) 13 years (4) 14.5 years

62. The curved surface area of a cone is 47.10 sq.cm. If radius of the base is
3 cm then what is its perpendicular height? (m =3.14 cm)
(1) 3 cm (2) 4 cm
3) 5cm (4) 157 cm

63. How many coins of thickness 0.2 cm and diameter 4 cm will be formed by
melting a solid metallic cuboid of length 22 cm, breadth 18 cm and height

6 cm?
(1) 935 (2) 954
(3) 594 (4) 945

SPACE FOR ROUGH WORK
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60.

61.

62.

63.

SO 8.5 &ﬁéoéaesﬁ 2,10,000 orllomo ermsgs 5 Soje §°6 V. O DOD
>&5 Soo@ B8 3,36,000 crfloo ©DoBW. @00 SE G Do ?

(1) 11% 2) 10%
3) 12% 4) 14%

o8 SRS 60 5008 Do SADD DeFLYJs eI BMNHSVODVED. TR, ¢ 00

SOTN®  §30¢55330800 5300 %:508300.

Somng, (PosEmeed?) 12 13 14 15
exgepe Do 13 12 21 14
(1) 15 Sojen (2) 13.6 Dojleo
(3) 13 Sojen (4) 14.5 Jolleo

&5 oK AT, SEBO e 47.10 ©.20.800. T, R IS orgo 3 20.80.
&S R 8y d08? (1 =3.14 Sw0E%d)

(1) 3 20.%. (2) 4 20.%.

(3) 5 2o0.%. (4) 15.7 20.%0.

22 20.80. @y, 18 20.80. BEen, oA 6 0.80. W Mo &5 S HFPOTO
50M09 0.2 20.80. $00655520 $S00aD0 4 20.80. Mo MBS 56K Dgyen DR, BOLPOIDD?

(1) 935 (2) 954
(3) 59 (4) 945

SPACE FOR ROUGH WORK
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64.

65S.

66.

67.

68.

The area of a square is 4.41 sq.cm., then what is its perimeter?
(1) 42 cm (2) 104 cm
(3) 8.8 cm (4) 8.4 cm

The base radius of a cylindrical tank is 28 cm. It contains water. A metal
cuboid of length 44 cm, breadth 14 cm and height 8 cm is dropped into it.
Then what is the increase in the level of water in tank?

(1) 2 cm (2) 2.5 cm

3) 3 cm (4) 1.5 cm

The length of side of a rhombus is 17 cm. If the length of one diagonal is
16 cm then what is the length of other diagonal?

(1) 30 cm (2) 17 cm

(3) 8 cm (4) 34 cm

The population of a town was 75000. This population is increased by 10%
next year. After that year, the population decreased by 8%. In the third year
the population is increased by 5% then at the end of third year, what will be
the population?

(1) 935550 (2) 78000

(3) 79695 (4) 77950

Ashok sold the necklace worth Rs. 15,00,000 at 20% profit. How much amount
Ashok will get?

(1) Rs. 1,12,000 (2) Rs. 18,00,000

(3) Rs. 17,00,000 (4) Rs. 16,00,000

SPACE FOR ROUGH WORK
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64.

65.

66.

67.

68.

&8 TBOTP0 ABWE, JIe0 4.41 $5.20.90. OG0, @ONS €8 SSBOG|N0 BT,
o8 Do ?

(1) 4.2 20.8o. (2) 10.4 20..
(3) 8.8 2o.5o. (4) 8.4 20.8o.

&5 AP0 59 G30s, gIrde angrgo 28 20.80. o). S HH oy, oS 44
20.80. ), 14 20.80. 3ceo, o008 20.80. & o Sy @08, S DS

DB B DoB PEIDDO?
(1) 2 20.%. (2) 2.5 20.80.
(3) 3 20.%0. (4) 1.5 20.80.

17 20.80. gbao o Ps0ghE SBoMs? &5 550 dsd) 16 20.80. &9S° R Bows
BP0 ety D0 ?

(1) 30 20.5. (2) 17 20.5.

(3) 8 20.80. (4) 34 20.%0.

a5 HQewo amegy 75,000 eodim. om0 Sosdwo e awes 10% oR0. e IS
058,50 8% &R, Sres 05,50 5% 0B, 00T SOES DOSEG DSESY e

DEED 23°8T VOB E30GID 7

(1) 935550 (2) 78000
(3) 79695 4) 77950

88 15,00,000 srfon §%0R%er 395 @08 20 BoB0 ergiodH @RHS’ SIS I,
oo ©8owo0?

(1) 1,12,000 &w|jew (2) 18,00,000 &]jen

(3) 17,00,000 wx|en (4) 16,00,000 ww|en

SPACE FOR ROUGH WORK
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69.

70.

71.

72.

73.

The measures of exterior angles of a triangle are 115° and 117° respectively,
then which type of triangle is it?

(1) Acute angled triangle

(2) Obtuse angled triangle

(3) Right angled triangle

(4) Equilateral triangle

The length of a diagonal of a square is 11 cm then what is the length of its
side?

(1) 11 cm (2) 11y2cm
3) 5.5/2cm (4) 742 cm
3.9% of 1530 = ? (Choose two correct options.)

(1) 59.67 (2) 5967 x 1073
(3) 5967 x 1072 (4) 5.967

The measure of a minor arc is 160° then what is the measure of corresponding

major arc?
(1) 160° (2) 320°
(3) 200° 4) 80°

A shopkeeper gives 12% discount on the printed price of a mobile. He sold
a mobile for Rs. 26,400. What was its printed price?

(1) Rs. 30,000 (2) Rs. 32,000

(3) Rs. 26,412 (4) Rs. 3,000

SPACE FOR ROUGH WORK

0711-Telugu Set-A 28 of 32 Contd...



69.

70.

71.

72.

73.

2.5 (Behaso 63008, 3o eo%a’régﬁs@@ losten [sosome 115° svoosn 117° reg). e9o00s
es |HgH2so O U508 R0DIO?

(1) o508% &evaso
(2) ©os8% enao
(3) ©o08% Beneso
(4) dsoerd |BeHeso

&5 SEBE0 G305, 5Y0 D) 11 0.80. 00D R gHRO DED) D02

(1) 11 0. . (2) 1142 20. &o.

(3) 5.5/2 2o0. &o. 4) 7Y2 20. &o.

1530 8wz, 3.9% = 20? (Bowd $OGHN HOROMEND HYOLN. )

(1) 59.67 (2) 5967 x 1073
(3) 5967 x 1072 (4) 5.967

285 O @0 S8 160° redd. @o0s el HorTE @5 N0 S0 Do ?
(1) 160° (2) 320°
(3) 200° (4) 80°

28 OSPE0mENE 3rBS B8, SR SR 12% Q0550005 QW D. B &S
IrBS 26,400 w0 @RFS IS SR 55 08?2

(1) 30,000 5o (2) 32,000 5|eo
(3) 26,412 o|eo (4) 3,000 5fen

SPACE FOR ROUGH WORK

0711-Telugu Set-A 29 of 32 P.T.O.

7
S



THIC HI HI I I I IS IS HIC A
7 Nl N NI N NI NI N\ N\ N N\

Instruction for Question No. 74 & 75

In the following joint bar graph, the number of boys and girls in divisions A,
B, C, D of 8™ standard are given. Observe the joint bar graph and answer
the following questions.

- |Scale: OnY - Axis | cm = 10 boys/girls
[ boys EZ4 girls
mse. ‘ i . .........
......... = 494. 58 FEEES FR421 el [ bived (328 1348
&) 30 ] A
(gx 320 | ; i 7 2 ~
o [ 2 ]
2 4g
] i {
0 FA B LD X
EEEmso N ame

74.  What is the total number of students in all four divisions of 8 standard?
(1) 255 (2) 300
(3) 200 (4) 355

75. What is the ratio of number of boys with number of girls in B division?
(1) 67 (2) 7:6
(3) 56 4) 6:5

SPACE FOR ROUGH WORK
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808, 0. 74 H5oBDADO 75 E BT DS :

85 &@or® a3ws, A, B, C, D ?ogSoe‘iS?o 29232,00000 SOOIV WITHO0® G3E, DO
808 HoaT0s sﬁib& Bared|g85500 B SPLOTVEID. TR 008909 80& DI 8aed)SN,.

Ly L
‘ Pt Y g0 1 ?oogb; =10 @eég)omn/&eam&ow@
L] 927,000 E eaaﬁavjowen '

BaEn -
3 139 [ ZHE
13 i i 2 ~
| é“ 204 - B A -
EEES1 18- e .10 — - 44— p—— = e

0 At B G D X

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ] yere i

74. 85 sore ABo0E, Teenrd dgren 5O 30H0 e (DIeRe) PHogy HoB?

(1) 255 (2) 300
(3) 200 (4) 355

75. ‘B’ 2556% 29232,00000 S0POID WITHO0® J03x® DAB Dot ?
(1) 6:7 (2) 7:6
(3) 356 (4) 65

SPACE FOR ROUGH WORK
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